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(B) (AP L SR BT 5188 0+ B EDEm) P EP LHREN RS 5800 L EEDEHSM) ERFAR FRTEit T RSB ET B A
(C) #EN=&KBHA100kN/ MU T DX B DFEI D H DERKIEKN/M) (G) HIESHIMUTORIFEDOHIED D RAEKRN/M) LEREE
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HETFHRLIYTHEOLEEDHDAES SERMAD T EZEDHDREE

RHES % =

(A) (B) () (D) (E) (F) (G) (H) (A) (B) (©) (D) (E) (F) (G) (H)
(1) 1645 1.0 100.0 1.0 21.1 42 15.2 30 164.4 1.0 98.4 1.0 21.1 42 149 29
( 2) 1288 1.0 99.6 1.0 15.7 3.1 15.0 30 126.0 1.0 98.7 1.0 - - 137 27
( 3) 134.7 1.0 99.6 10 16.0 32 15.0 30 132.6 1.0 98.7 1.0 16.0 32 14.0 28
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